HOMEWORK SOLUTIONS

MULTIVARIABLE CALCULUS
Section 10.5 - 5, 13, 21, 25-30

5. (x4+2)° =8(y—13). 4p =8, sop =2 The vertex is
(=2, 3), the focus is (=2, 5), and the directrix isy = 1.
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b= 1-"T: l.,e= 1...-'r:.LE — = Vil=1= ﬁ: 21..1'"5.
The ellipse 15 centered at (0, 0), with vertices {£3. 0.

The foci are (£2+/2,0).
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.4.172+4z+y2=ﬂ E= 4{.1:2+z+%:|+y2=l = 4[I+%}2+y2=1 =

.z =y+1 & z =1y + 1). This is an equation of a parabola with 4p = 1, s0 p = . The veriex is (0, —1) and the

focus is {ﬂ,-%}l.

=y +1 & z*=y* =1 Thisisan equation of a nperbola with vertices (1, 0). The foci are at

(£vTFL0) = (£vZ.0).

:52==iy—2;r,r? = .1:2+2;r,r?—4y:D = .1:2+2{y2—2y+1]=2 = I?+2{y—l}2=2 =
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% + % = 1. This is an equation of an ellipse with vertices at (++/2, 1). The foci areat (+/Z = 1, 1) = (+1,1).

y! =By =6r=16 & p’=By+16=6r < (y=—4)° =6z This isan equation of a parabela with 4p = 6,

sop = 2. The vertex is (0. 4) and the focus is (£, 4).
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Lty =443 & PHWy+l=4"44 & (y+1)i-ar'=4 & -{y—zl-]——:szzl.'l'hismanequannn

of a hyperbola with vertices (0, =1 4 2) = (0, 1) and (0, —3). The foci are at (0, =1+ T+ 1) = (0, -1+ v/5).

(z+ 3’

7 +y? =1 Thisisan

equation of an ellipse with vertices (—%,0 £ 1) = (=%, £1). The foci are at (—%: D+,/1- %) = (—%. +v3/2).



